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Aufgaben-Quickname: 5435

Aufgabe 1
Berechne den Grundwert.

a) 80 % von 150=120
d) 80 % von 1000=800
g) 20 % von 245=49
j) 60 % von 880=528

Aufgabe 2
Berechne den Grundwert.

a) 18 % von 4000=720

d) 70 % von 9110=6377
g) 55 % von 8080=4444
j) 30 % von 6790=2037

Aufgabe 3
Berechne den Grundwert.

a) 34 % von 50=17
d) 86 % von 50=43
g) 50 % von 70=35
j) 75 % von 100=T75

Aufgabe 4
Berechne den Grundwert.

a) 70 % von 200=140
d) 10 % von 180=18
g) 100 % von 50=50
j) 75 % von 60=45
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b) 75 % von 204=153
e) 95 % von 620=589
h) 50 % von 292=146

b) 50 % von 7082=3541
e) 50 % von 4468=2234
h) 28 % von 8950=2506

b) 50 % von 12=6
e) 80 % von 35=28
h) 22 % von 100=22

f)7
i)

b) 90 % von 130=117
e) 25 % von 68=17
h) 45 % von 160=72

f)
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¢) 90 % von 330=297
f) 100 % von 330=330
i) 60 % von 385=231

¢) 30 % von 8920=2676
f) 72 % von 3275=2358
i) 23 % von 8100=1863

c) 28 % von 25=7

0 % von 20=14
100 % von 48=48

c) 45 % von 20=9
90 % von 180=162

i) 90 % von 30=27
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